[ Fake rate vs vertpos |

0.8~

0.6

0.4}

0.2

I=----ee--- E--q—--

..............................................

b = ok =

AT

1072

107 1

[ Duplicates Rate vs vertpos |

0.0

0.009]
0.008|
0.007
0.006
0.005]
0.004]
0.003
0.002

0.001

0.5

q

F
1072

107 1 10 10?

[ Pileup

rate vs vertpos |

0.01

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

aF

osF

oF
10™

2 107 1

10

DQM_modified

Fake rate vs

0.8

—_—

M~modified 4iter-NewERR

fdatazitegtanni’ ISON-bRwd-fwad/mo-modiffCMSSW_13_0_X_2023-01-24-1100/STc/DQM_origimal

...............................................

..................

J.-G_I At

0.7k
0.6F
0.5
0.4F
0.3F
0.2k
o
1.1
3
-30

Fake r

atevs.simPVz |

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

.........................................

10F

0.0

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

.............................................

..............................................

q

0.5

[ Duplicates Rate vs sim PV z |

0.0
0.009
0.008
0.007
0.006
0.005
0.004]
0.003]
0.002
0.001

0.0,

0.009
0.008
0.007
0.006
0.005
0.004
0.003
0.002
0.001

[ Pileup

rate vs. sim PV z |

0.0

0.009F
0.008F
0.007F
0.006F
0.005F
0.004F
0.003F
0.002F
0.001

.............................................

...............................................

05k

Q=+




	Contents
	Page 1


